ECON 200
                                                                                 FALL 2006
EXAM I

  PROFESSOR LEFFLER


TA grading guide.  Each question has a maximum value of 24.  4 bonus points for student name, TA name, and TA section letter.  Strive for an average of 16-17.  Read at least ten answers before settling on your scoring system.  For each question you grade, you must prepare a summary of how you graded, examples of good approaches and errors students made.  This must be given to me (in electronic format) by Sunday evening.  I will then post it on the website for the students to read.  Below I provide some comments to guide your grading.  I expect the grading to be done by Sunday with all scores posted by mid day Sunday, and with exams handed back at Quiz on Monday.
1. Explain each of the following:

a.  The substitution posulate.
All consumers with be willing to gove up some of one good to more get more of another good.

b.  Inflation.
An increase in the general price level.  (text page 68)  Or better - an increase in the cost of a standard set of goods.  Example - the money prices of all goods rose by five percent.

c.  The costs of trading. 
Reductions in the amount of goods (things you would like to have more of) that occur in finding a trading partner, identifying the quality of what the trader has to offer, and to negotiate the price of the trade. 

d.  The parameters of demand.

The factors other than price that influence a consumer’s willingness to trade and thereby “shift” the consumer’s demand schedule. 

e.  Diminishing marginal value.

The amount of one good that people are willing to give up to get more of a second good, decreases as more as the amount of the second good increases.

2.  Jody just got back from buying candy and soft drinks at Fred Meyer.  She paid 50¢ per candy bar and 40¢ cents per soft drink.  Her friend Chris also just shopped at WalMart, paying 60¢ per candy bar and 20¢ per soft drink.  Jody bought 6 candy bars at Fred Meyer and Chris 8 candy bars at Wal Mart.. 

i.   Does Chris like candy bars more than Jody?

Economically we can only say that Chris was willing to give up more of other goods to get candy bars that was Jody.

ii.  After their shopping, do you expect them to be able to be better off by trading with each other? 
Yes.  I expect that Jody will have continued to buy candy until her marginal value is just greater than or equal to the price.  The same for Jody for soft drinks, and for Chris for candy bar and for soft drinks.  Therefore, after her shopping trip, Jody will be willing to trade about 1 1/4 soft drinks for one candy bar.  Since Chris faced very different prices when she made her purchase decisions, after purchasing she would be willing to trade about 3 soft drinks for one candy bar.  If they propose a trade at the rate of, for example, 1 candy bar for 2 soft drinks, Chris would be better off giving up soft drinks to get another candy bar, while Jody would be better off getting the soft drinks, giving up the candy bar. 

 iii. If they trade, what would you expect to happen to Jody’s marginal value of candy?
Since Jody will be giving up candy bars and getting soft drinks, her marginal value of candy will increase.  

iv.  If Chris also bought 4 soft drinks at Wal Mart, would she have preferred the Fred Meyer prices?
Chris spent $5.60 shopping at Wal Mart (8x60¢ + 4x20¢).  To buy the same quantities at Fred Meyer would also cost $5.60 (8x50¢ + 4x40¢).  However, if Chris shopped at Fred Meyer, she would change her purchases, increasing candy and reducing soft drinks (Law of Demand).  Hence, since the most preferred option at Wal Mart is available at Fred Meyer, and a more preferred option is also available at Wal Mart, Chris would prefer the Fred Meyer prices.

3.  Does each of the following make economic sense?

a.  “2006 was a record crop year for soy bean farmers.  Thus times are particularly difficult for these farmers.”

This makes economic sense if the demand for soy beans is inelastic.  A record crop year means a large quantity available.  If demand is inelastic (E<[-1]), the percentage increase in quantity will be less than the correspondent percentage reduction in price.  Thus with an inelastic demand, the percentage increase in the quantity produced will be less than the resulting percentage decline in price and the farmers’ incomes will be reduced. 
b.  Food, shelter and clothing are basic human needs for all people.  However, as a society becomes wealthier, other things such as medical care and education become basic needs.

This makes no economic sense.  In economics, there is no testable mechanism to identify “needs”.  People will substitute some of one good, including food, shelter and clothing, for more of other goods.  Since neither the first not the second sentence of the passage makes any economic sense, it cannot be considered true.
c.  Governments can't correct a scarcity but they can correct a long lived shortage.

This makes economic sense.  A scarcity is a fact of nature and our preferences.  A scarcity simply means that we don’t have all we would like of many things.  There is nothing the government can do about scarcity.  Regardless of how successful the economic policies of the government might be, there will still be things that we would like to have more of.

A shortage, however, means that at the current price, the amount that people would like to trade for is greater than the amount other people would like to trade away; that is, quantity demanded exceeds quantity supplied.  A shortage is self correcting unless coercive force impedes the competition among the demanders to raise the price.  Hence, a long lived shortage occurs only if the dominant coercive force (the government) has prevented buyer competition.   The government can therefore correct the shortage by allowing the competition.

d.  A consumer’s marginal value can be inferred from his demand schedule.

This makes economic sense.  The demand schedule tells us the consumer’s preferred purchase amount at alternative prices.  Since the consumer will continue to buy only if the benefit (=marginal value) exceeds the cost (=price), at the preferred quantity for each price, the consumer’s marginal value will be about equal to the price.  

4.  Answer each of the following:

a. U.S. gas prices quickly reached record levels of $3 per gallon in May 206.  The price stayed at this level until September.  Using U.S. consumption data in April compared to May, the elasticity of demand for gasoline was estimated to be -2/10ths.  Using data in April compared to September, what would expect the elasticity estimate to be?
Based on the Second Law of Demand, we expect the elasticity estimate to be higher (in absolute value) than -2/10ths.  The Second Law of Demand predicts that the consumers response to a price change will be greater the longer the period than have to respond.  In May, consumers would have had little time to respond (by for example, changing cars, using public transportation, car pooling, moving, …).  By September (four months later), consumers will have been able to respond more to the price increase.    
b.  How would you expect an estimated elasticity of demand to differ using, firs, data comparing consumption levels across states that have very different gas taxes and therefore different prices, and, second, using data comparing consumption levels over time in a state where prices vary up and down over a range that is about the same as the range of prices across states in i..
We predict a greater elasticity estimated from the data with price variances coming from different states as compared to the same state over time.  This is also a prediction from the Second Law of Demand described above.  When prices are “permanently” higher because of tax differences, consumers will make their optimal “permanent” response decisions with regard to living locations, commuting decisions, and car types.  The cross state consumption date will reflect these decisions.  For variances over time, consumers will make these decisions based on the average expected price.  Hence, we will expect to see relatively little change in consumption in response to prices going up and down over time.    
c.  How would you expect the estimated elasticity of demand at some given price to differ for:

i.  a community with high average family income compared to a community with low average family income?

Holding other things constant (in order to compare the differences in income), this can be considered a change in a parameter of demand.  Assuming that gasoline is a normal good (increase in income, increases demand) as is the case, the demand for gasoline will be greater in the community with a higher average income.  This increase in demand will result in an a more inelastic demand (lower absolute value) in the higher income community (a higher quantity will reduce the numerator of the elasticity formula -  or using the graphical interpretation, the Price/Price to Intercept, denominator will be greater with the shifted higher income demand. 
ii.  a community with good public transportation system compared to a community with no public transportation.

We expect a greater elasticity (more elastic) demand in the community with the good public transportation system, since public transportation will be a substitute for driving and using gasoline.

5.  The following is an indifference schedule for Chris for Food and Drink:

                          a     b     c     d     e     f      g

Chris   Food      6     5      4    3     2     1     0

           Drinks    0     2     5     9    15   21   28

i.  Does Chris’s preferences follow the (first) three fundamental postulates explained in class?

No.  The postulates are Scarcity, Substitution, and Diminishing Marginal Value.  The first two are exhibited by the fact that Chris will not give up food or drink unless his is given more of another good.  The third is however violated in that Chris’s MVs of food are (increasing from 1, moving right to left in the food row) 7, 6, 6, 4, 3, 2.  Hence, this indifference schedule indicates that Chris has a MV of 6 drinks for the Second and for the Third food unit.  This violates the diminishing marginal value postulate.

Kim’s indifference schedule is:

                           a    b    c     d     e     f      g

Kim     Food       6    5    4     3     2    1      0

           Drinks      3    6   15   25   36   49   64

ii.  Kim and Chris each have combination d.  If Kim and Chris met up, what is the maximum surplus from trade of drinks that Kim could have?  What is the maximum surplus of food Kim could have?  What would she prefer, the surplus of drinks or of food?

Starting from combination d., Chris will give up a unit of food if he is given 6 drinks; 2 units of food for 12 drinks; 3 units of food for 19 drinks.  Kim would be willing to give up 10 drinks for 1 unit of food; 19 drinks for 2 units of food and 22 drinks for 3 units of food.  Hence, if she trades 2 units of food to Chris for 12 drinks, she gets a maximum surplus of 7 drinks.  

She could also get a maximum surplus of 1 unit of food by trading 19 drinks to Chris for 3 units of food (she would be willing to trade 19 drinks for 2 food).  

She would prefer the Drink surplus.  She can have either a combination with 5F and 13D; or 6F and 6D.  Comparing 6F and 6D to combination a above, we can see that this equals a surplus in terms of drinks of only 3.  While the 5D, 13F is a surplus of 7 drinks over b.  Hence 5F and 13D is preferred.    

6.  True/false explain.  
a.  If the Demand for a good has little response to an increase in income (low income elasticity), it is more likely (than if the Demand responds a lot to an increase in income – high income elasticity) that the poor will get more of the good if a price control is imposed and the good is allocated by waiting.

True.  This implies that the increase in the value of the goods will not increase much with income.  However an increase in income will (generally) increase the value of time and hence the ratio of good value to time value will tend to fall for the rich compared to the poor.  The higher value/time cost will determine who waits the longest and gets the goods.
b.  Trade occurs because two or more consumers have a surplus of different goods.
False.  A surplus has no meaning in the context of an individual consumer.   A surplus refers to a market situation in which, at the current price, the quantity demanded is less than the quantity supplied.  Trade occurs because one consumer offers another a price greater than marginal value.  At that price, the consumer prefers to give up some of his available goods, but that is not a surplus.  
c.  By limiting the price that consumers can pay for gasoline to a price below its equilibrium level, the government can reduce the competition among consumers that leads to expensive gasoline.
False.  The incentive for consumers to compete arises when, at the current price, consumers are concerned about receiving all the goods they desire to trade.  By limiting the price, the government can create such competition, but not reduce such competition.  In addition, even with the money price limited, the gasoline will not be less expensive, but rather the expense will occur in other forms (over paying for other goods, getting lower quality, waiting in lines, ... .
d.  A seller that can choose its price would not set a price where the demand was inelastic.
True.  If demand is inelastic, an increase in price will increase revenue while reducing the quantity sold.  This will unambiguously increase profit.  Hence, a seller will not choose to set price was demand was inelastic.
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